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5.1 Numpy 2 &

5.1.1 numpy 2] 7§ &

°numpyl5 C(?jﬁi :[15_4.11:'4__ E,ﬂ—O]/Bﬁ_ ﬂolﬂaiaibﬂy al ‘numpy X]—iéé
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*Numerical Python®] @t ojolal #E 4 3 A4k + B3 7} 9l A4 uint (8,16, 32, 54)
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o] E B S 3 u AFRE = glo]H 29l pandas$} « 54 complex (64, 128, 256)
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1. numpy array2| M2l & AL&3517|

>>> import numpy as np
>>> listl = [1,2,3, 4,5] #python List
>>> list2 = [1,2,3,3.5,4] #python List
>>> arrl=np.array(listl)
>>> arr2=np.array(list2)
>>> arrl.shape
(5)
>>> arrl.dtype
dtype('int32")
>>> arr2.dtype
dtype(‘float64")
>>> arr3=np.array([[1,2],[3,4].[5,6]])
>>> arr3
array([[1, 2],
[3, 4],
[5, 6]1)

1.1 np.zeros, np.ones, np.arrange, broadcasting

>>> np.zeros((2,3)) #zeros
array([[0., 0., 0.],
[0.,0.,0.1])
>>> np.ones(5) #ones
array([1.,1.,1.,1.,1.])
>>> np.ones((2,3))
array([[1., 1., 1.],
[1.1.,11])
>>> np.arange(5) #arange
array([0, 1, 2, 3, 4])
>>> np.arange(1,5)
array([1, 2, 3, 4])
>>> np.arange(1,5,2)
array([1, 3])

#broadcast
>>> arri=np.array([[10,11,12],
. [20,21,22]])
>>> arr2=np.array([11,12,13])
>>> arriltarr2
array([[21, 23, 25],

[31, 33, 35]])
#arrl+arr2
# = [[10,11,12], +[11,12,13]
# [20,21,22]])
#=[[10,11,12], +[[11,12,13]
# [20,21,22]]) [11,12,13]]
#=[[21, 23, 25],
# [31, 33, 35]]
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arri=np.array([[1,2,3],[4,5,6]])

arr2=np.array([[11,12,13],[14,15,16]])

arr1.shape
3)
arr2.shape
3)

arri

array([[1, 2, 3],

>>>

(4, 5, 6]])
arr2

array([[11, 12, 13],

(14, 15, 16]])

>>> arri+arr?2 #E1 M
array([[12, 14, 16],

[18, 20, 22]1])
>>> agrri-arr?2 #t el
array([[-10, -10, -10],

[-10, -10, -10]])
>>> arri*arr2 #eg
array([[11, 24, 39],

[56, 75, 96]])
>>> arri/arr2 #LT A

array([[0.09090909, 0.16666667, 0.23076923],

>>>
>>>

[0.28571429, 0.33333333, 0.375
arr3=np.array([11,12,13])
arri+arr3

Array([[12, 14, 16],

>>>

[15, 17, 19]])

arr1=10 # broad casting

array([[10, 20, 30]

>>>

[40, 50, 60]])

arri*x2 # broad casting

array([[ 1, 4, 9],

[16, 25, 36]], dtype=int32)

# broad casting
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3. Indexing slicing

>>> arri=np.arange(5)
>>> arri

array([0, 1, 2, 3, 4])
>>> arr1[0]
0

>>> arri[4]
4

>>> arr1[0:2
array([0, 1])
>>> arri[:2]
array([0, 1])
>>> arr1[2:-1] #2~0FK| & 71K
array([2, 3])

>>> arri1[2:]  #2~Z K|
array([2, 3, 4])

>>> arr2 = np.array([

#X S5 2T K]

>>> arr2
array([[1, 2, 3],

[4, 5, 6],

[7, 8, 91])
>>> arr2[1,:] #1334
array([4, 5, 6])
>>> grr2[:,2] #2
array([3, 6, 9])
>>> arr2[:1,:1] #
array([[1]])
>>> arr2[:2,:2] #
array([[1, 2],

[4, 5]])

4. Array boolean indexing(mask)

>>> names=np.array([ 'Kim', 'Lee',"Kim"])
>>> score=np.array([[70,71,72],
[80,81,82],

[90,91,92]1])
>>> score[[True,False,True]]
array([[70, 71, 72],

[90, 91, 92]1)
>>> score[names=="'Kim"]
array([[70, 71, 72],

[90, 91, 92]1)
>>> score[ (names=='Kim" ) | (names== ‘Lee’ )]
array([[70, 71, 72],

[80, 81, 821,

[90, 91, 92]1)
>>> score[names=="'Kim', :2]
array([[70, 711,

[90, 91]])




5. Numpy &

AL
T
5.1 Rl Che] o ok

>>> arri=np.array([[1,2.4],

.. [11.6,-12]])
>>> np.abs(arr1) #abs
array([[ 1. , 2.4],
[11.6, 12. 1])
>>> np.square(arr1) #square
array([[ 1. , 5.76],
[134.56, 144. 1])
>>> np.sqrt(arrt) #sqrt
array([[1. , 1.54919334],
[3.40587727, nanl])
>>> np.exp(arr1) #exp

array([[2.71828183e+00, 1.10231764e+01],
[1.09097799e+05, 6.14421235e-06]])

>>> np. log(arr1) #log
array([[0. , 0.87546874],

[2.4510051 | nanl])
>>> np. log10(arr1) #log10
array([[0. , 0.38021124],

[1.06445799, nanll])
>>> np. log2(arr1) #log2
array([[0. , 1.26303441],

[3.5360529 | nanll])
>>> np.sign(arr1) #sign

array([[ 1., 1.1,
[ 1., -1.1])

>>> np.ceil(arr1) #ceil
array([[ 1., 3.],

[ 12., -12.]1])
>>> np.floor(arr1) #floor
array([[ 1., 2.1,

[ 11., -12.1])
>>> np.isnan(arr1) #isnan

array([[False, False],
[False, Falsell)
>>> np.isnan(np.sart(arrt))
array([[False, False],
[False, Truell)
>>> np.isinf(arr1) #isinf
array([[False, False],
[False, Falsell)
>>> np.cos(arr1) #cos,cosh,sin,sinh,tan,tanh
array([[ 0.54030231, -0.73739372],

[ 0.56828963, 0.84385396]])
>>>

>>> arri=np.array([

]
11)
],

11)
#add substract,multiply,devide

[0,1,2
[3,4,5
>>> arr2=np.array([[1,0,2
[3,5,6
>>> np.add(arri,arr2)
array([[ 1, 1, 4],

[ 6, 9, 11]1])
>>> np.maximum(arr1,arr2) #maximum,minimum
array([[1, 1, 2],

[3, 5, 6]])

5.2 SH &

#sum, mean, std, min, max,argmax,argmin,cumsum,cumprod
arri=np.array([[0,1,2],

. [3,4,5]])

>>> np.sum(arri)

15

>>> np.sum(arr1,axis=1)

array([ 3, 12])

>>> np.sum(arri,axis=0)

array([3, 5, 7])

>>> np.mean(arr1) #mean
2.5

>>> np.mean(arr1,axis=1)
array([1., 4.])

>>> np.mean(arr1,axis=0)
array([1.5, 2.5, 3.5])

>>> np.argmax(arr1) #argmax
5

>>> np.argmax(arr1,axis=1)
array([2, 2], dtype=int64)

>>> np.argmax(arr1,axis=0)
array([1, 1, 1], dtype=int64)
>>> np.argmin(arr1) #argmin
0

>>> np.argmin(arr1,axis=1)
array([0, 0], dtype=int64)

>>> np.argmin(arr1,axis=0)
array([0, 0, 0], dtype=int64)
>>> np.cumsum(arr1) #cumsum
array([[ 0, 1, 3, 6, 10, 15] dtype=int32)
>>> np.cumsum(arri,axis=1)
array([[ 0, 1, 3],

[ 3, 7, 12]], dtype=int32)
>>> np.cumprod(arri) #cumprod
array([0, 0, 0, 0, 0, 0], dtype=int32)
>>> np.cumprod(arr1,axis=1)
array([[ 0, 0, 0],

[ 3, 12, 60]], dtype=int32)




5.3 7| Efet=

>>> arri=np.array([[20,1,4],
[9, 4,311)
>>> np.sort(arri)
array([[ 1, 4, 20],

[ 3, 4, 9]])

>>> np.sort(arr,axis=1)
array([[ 1, 4, 20],
[ 3, 4, 9]

>>> np.sort(arr1,axis=0)
array([[ 9, 1, 3],
(20, 4, 4]])

>>> np.sort(arrt,axis=0)[::-1]
array([[20, 4, 4],
[9, 1, 31D




5.1.2 Y X2E 3 F5

1. Python list 2. Numpy array
5.1.2 Y A~EQ 3 T/
e Python® AE >>> a=[1,2,3] >>> import numpy as np
y; o%_,'iﬂfa >>> b=[3,4,5] >>> a=np.array([1,2,3])
A At >>> g*2 >>> b=np.array([3,4,5])
«OFE HolHE 24 F F&3HAIR [1, 2, 3,1, 2, 3] >>> 2xa
. = 2l ] A E >>> ata array([2, 4, 6])
array EEH——EL—w— [1, 2, 3, 1, 2, 3] >>> ata
« W array 2 2E ol & >>> ath array([2, 4, 6])
- 73 2R 0B 8 o] @ AT 548} [1, 2, 3, 4, 5, 6] >>> c=np.array([3.0,4.0,5.0])
>>> gtc
'NumDYEkEE- array([4., 6., 8.1)
e AL thaksl 3o 9 & MAvls >>> d=np.array([3.0,4,5.0])
C AR B o) AaAN Ahs o

array([3., 4., 5.1)
>>> d=np.array([3.0,4,'a'])

>>>

array(['3.0', '4', 'a'], dtype='<U32")

>>> g+d

Traceback (most recent call last):
File "<stdin>", line 1, in <module>

TypeError: ufunc 'add' did not contain a loop with
signature matching types dtype('<U32') dtype('<U32")
dtype( '<U32")
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[ 20
28 21

T

3
2

-1
1

(=1) 423435 1-14+2-443.2
(-1)42-34+5-5 3-14+2-445-2

15]

3 5
4 2

1-343-4 1-5+3-2
2-342-4 2-542-2
3:3+5-4 3-5+45-2

>>> np.dot(a, b.transpose())
array([[20, 15],
[28, 211]1)
>>> np.dot(a.T, b)
array([[ 2, 15, 11],
[ 0, 14, 14],
[ 2, 29, 25]])

>>>

Transpose () $F<r+ Y49 A X3
dot(O) g AH e A= Alvtsk=

a.transpose () thAlef a. Tekal &



5.1.4 UAWAF1 AAXt

T}S-2 Al A X389 (confusion matrix) ©| TF. UA (unweighted accuracy) 2F
WA (weighted accuracy) & Numpy &S o] £35lo] AAtsHAL.

>>> cm=np.array(

ang neu hap sad tot recall
ang 99 3 15 18 135 07333 ... [[99, 3, 15, 18],
neu 2 3 0 4 9 03333 ... [2, 3, 0, 4],
hap 14 8 7 7 36 0.1944 ... [14, 8, 7, 71,
sad 3 1 3 43 50  0.8600 .. [3 1, 3, 43]])
tc_)t_ 118 15 25 72 230 S>> cmm=np.zeros((5,5))
precision 0.8390 0.2000 0.2800 0.5972 ___ v%/iZ/?;{) AP 55> omn[ =1, :—1]=cn
06609  UA >>> cmm[ :=1,-1]=cm.sum(1)
0.5034 F1 >>> cmm[-1, :=1]=cm.sum(0)
>>> AR=(np.diag(cm)/cm.sum(1)) .mean()
>>> AP=(np.diag(cm)/cm.sum(0)) .mean()
>>> F1=2xAP*AR/(AP+AR)
>>> UA=np.diag(cm).sum()/cm.sum()
import numpy as np >>> cmm( :4, :4]=cn >>> WA=AR
>>> cm=np.array( S>> cmm >>> UA,WA,F1
[[99, 3, 15, 18], array([[99., 3., 15., 18., 0.], (0.66086, 0.53027, 0.50336)
[ 2, 3, 0, 4], [ 2., 3 0., 4., 0.1,
(14, 8, 7, 7], [14., 8., 7., 7., 0.1, _
[3 1, 3 43]) [3.. 1.. 3. 4. 0.], =2 Gl el )
>>> cmm=np.zeros((5,5)) 0., 0., 0., 0., O. S
>>> cmm ’ >>> cmm%:4,4]= cm.sum(1) = array([[ 99., 3., 15., 18., 135.1,
array([[0., 0., 0., 0., 0.1, >>> cmm [ 2., 3., 0., 4., 9.]
[0.,0..0..0., 0.1, array([[ 99., 3., 15., 18., 135.1, [14., 8., 7., 7., 36.],
[0..0..0.. 0. 0.1, [ 2., 3. 0. 4. 91 [ 8. 1. 3. &, %],
[0..0..0.. 0. 0.1, [14.. 8., 7. 7., 3.1, [118., 15., 25., 72., 230.]1)
[0., 0., 0., 0., 0.1D) [ 3., 1 3., 43., 50.],
[ 0., O 0., 0., 0.1D



5.2 Scipygle| B 2 g

G5t 9}, Tekokold ALEE & 9l o)
« £ 23+~ (scipy.special)
« X1 5 2] 2] (scipy.signal)

_l

?] (scipy.ndimage)
]Hﬂ 3} (scipy.fftpack)
(scipy.optimize)
A A B (scipy.integrate)
] <= (scipy.linalg)
(scipy.io)
=7 (scipy.stats)
« 12180 (scipy.weave)
= iﬂ W &8 5 (scipy.cluster)
« 3] 4~ 309 (sparse matrices) (scipy.sparse)
« 1 7F(scipy.interpolate)
«71E} (e.g. scipy.odr, scipy.maxentropy)

2,
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«ScipyCookbook (https://scipy—cookbook.readthedocs.io/)



5.2 Scipy#te] B.2] 2] (cont.)

<

5.2.1 scipy.linalg.eig(A) T+3 49 1783 179

b A H ] f gk Y

Al Y ASl APWE(Av) AT} A o] AR vl (1) 7F B = 00] obd WE S FHA] 14

E1 (V) ﬂé‘l—‘:} A, Ay, Vq
IAX‘,:::)l‘, [ : L ] [ : ]::A
aﬂl o aﬂﬂ

v

n

Vi
. import numpy as np

v from scipy import linalg as LA

n

A = np.array([[3,4],[4,3]])
w, v = LA.eig(A)

.T;I_% 6§ Eé‘cq jl% %k‘jq_ %H—I]' EJI = 6]—3]-. print('eigen values are ', w)
print('The first eigen vector is ', v[:,0], \
3 4 '\n and the correspoding eigen value is', w[0])
A= 13 print('The second eigen vector is ', v[:,1], \

'\n and the correspoding eigen value is', w[1])

A=7, V=[ 0.70710678 0.70710678].T S e v T =i
A=—1,V=[-0.70710678 0.70710678].T The first eigen vector is [ 0.70710678 0.70710678]

and the correspoding eigen value is 7.0
The second eigen vector is [-0.70710678 0.70710678]

and the correspoding eigen value is -1.0




5.2 Scipy#te] B.2] 2] (cont.)

5.2.2 scipy.linalg.inv() <34
ecieiip=|

-FEAY] AYE= A9 Wl FeLE BV e AES AS] UE A7 ol =) S
AB=BA=E,B=A"

>>> import scipy.linalg as LA
>>> A=np.array([[1,2],[3,4]])
>>> A
array([[1, 2],

[3, 4]])
>>> B=LA.inv(A)
>>> B

array([[-2. ,
[ 1

A = [i ‘3‘] A1 =2

L, 1.0,

.5, -0.5]1)

>>> np.dot(A,B)

array([[1.0000000e+00, 0.0000000e+00],
[8.8817842e-16, 1.0000000e+001])

>>> np.dot(B,A)

array([[1.00000000e+00, 0.00000000e+00],

[1.11022302¢-16, 1.00000000e+001])
>>>



